1000ppm (1L/m®)

a _Si02

[CaSO, 1/2H,0( N

HS", H,S

HS”

HS”

(SO4*)

10



CH,COO | +[s0.> |- 2HCO; + HS
(pH6.5-8.0)
100g
1000mL
=1:10

) H BOD coD TOC S0, Ca

P (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
1 5.6 117 18 18 23 1480 543
2 8.9 85 8 16 16 1590 696
3 153 8.3 10 27 28 1610 710
4 217 9.3 26 48 45 1530 721
5 68.5 8.0 162 293 188 1480 725
6 3.2 8.2 60 15 30 1470 725
7 4.4 93 40 61 50 1490 733
8 6.3 96 53 39 32 1510 766
9 7.2 109 85 121 92 1610 787
10 41.2 8.2 328 590 325 1690 734

2 3
1000ppm (0.045mmol/L)
pH8.5 pH5 100 H,S
pH8.5 HS s*
pH pH 7.5
1000ppm
b 0.43mmol/L
1kg 1kg
0.13mmol/ kg-
1:10 0.013mmol/L
1
31
5
0.013 mmol/L
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100 [

- 5
S 10 peeeegeee o ----
£ 7 o
g’ 1 '*lg’ ************************************
20 A
6 Ag
A
001 [
4 0001 f--tocooi 2 -
2
0.0001 (A 1 1 1 1 1 1 J

10
3.2T0OC
400 [~
2 0
Eh(mV) e A
Eww p-
s 1
00 [~Qg
0 AB‘ L L L L L 4
£ 50 100 150 200 250 300 350
-0 PO
A
-200 F--- Y A R 10
9 5
BOD 20mg/L 800 b
TOC (mg/L)
Eh TOC
13
BOD
TOC TOC
TOC 30mg/L
0.013mmol/L
TOC 30mg/L
BOD TOC R?=0.97 BOD 20mg/L TOC
25mg/L
TOC 25mg/L
pH

Fe** + S ., FeS
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41

pH8
Sio, | ALO; | TiO, | Fe,0,
(cm) (mm) (h) (%) (%) (%) (%) (%)
-A 0-15 16.2 27.2 214 11 123
-B 50- 146 29.0 23.7 12 14.1
-A 0-15 104 52.5 156 11 106
-B 40- 9.4 39.8 16.4 11 103
-A 0-54 111 418 174 1.0 11.0
-B 52-70 12.0 316 22.9 11 134
-A 12-57 155 35.0 16.4 038 7.9
-B 57-75 105 44.6 20.6 1.0 126
? <200 05 137 4.9 05 0.0 68.9
2 19.4 27.7 6.5 06 24.0
-A 0-24 8.9 48.4 103 07 5.6
-B 24-34 95 47.9 107 07 6.3
-A 0-13 4.9 42.7 143 07 6.1
-B 13-30 136 40.7 143 07 6.7
147 57 0.4 74.3
447 1.1 0.1 52.1
40 -
R it
meg-S/L pH 8 R S )
50mL P N (R
L e et
L H»f fffffffffffffffffffff
00 O N0 o0, 0,0,.m i S e PR I PR I N s P
(Fe03)
4.2

-B 10g 5g
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4.1

4.1
(9) (mL)
(mL)
Cnt(+) 1 1000
Cnt(-) 0 1000
1 1000
A 100g 1 1000
G 1
S 1
— 010
Jo0s
é 006
2 004
@
002
000
0 20 ) 60 80 0 0 i) 60 80
days days
£ Cnt(+) —o-Cnt(-) -B —A-T(lg) ——T(59) 0 T(10g) —O—T(50g) A~ Alg) —O-AB5g —O-Al0g) ~O-AS0g)
010 040 o m oo
4 oo Gy 008 oo I
0, v, A o,
2o S006 -
£o o

/ 000
0 20 40 60 80 0 20 40 60 80
=1/ 10) days days
——Cnt(+) —0—0nt(-) -B ——T(lg —-T(g) —+T(10g) —O—T(50g) —A—Alg) —0—ABgH - Al0g) —O—A50g)

TOC

o
e
15}

0.10

008 008
25mg/L e FEL
@ 2 )
w E ~ E
mg %0 T2
002 002
0.00 0.00
0 20 40 60 80 0 20 40 60 80
—A—G(1g) —0—G(5¢) —0+ G(10g) —O— G(50g) —A—S(lg) —0—S(59) —OS(10g) —O— S(509)
0.10
008
W,
<006
g
£004
002
0.00
0 20 40 60 80 0 20 40 60 80
——G(lg) —0—G(5g) —O— G(10g) —O— G(50g) —A—S(lg) —O—S(59) —1-S(10g) —O—S(50g)
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TOC ( )

(mV) [Eh(mV) 1]:
[ (CasSO, 1/2H,0) ]

CxH2+1-COOH

[ ] 2CHsCHOCOO + SO, - 2CH3COO" + 2C0yaqy+ 1/2HS + 1/2H,S + 3/20H + 1/2H20
[ ] 4CHiCH,COO" +3S0,% - 4CHsCOO + 4HCOy + H* + 3HS’
[ ] CHsCOO +S0,% -~ 2HCOs + HS

(H,S, HS, $%, 9

Fey(PO,)? + 357 _, 3FeS + 2P0,
(hydrotroilite) Fe? + HS - FeS nH,O + H*
(pyrite) FeS + S’ FeS,
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